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Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 8 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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89. Write short notes on any two 
(a) Stack pointer
(b) Program counter
(c) Gray code
(d) BCD code

the following instructions are execnted
ADI data, XRI data, RLC and PUSH

Draw the logic diagram, truth table and waveform
for a two flip flop ripple counter

10.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O
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Convert the binary number
(1111000011110000) to hexadecimal number
and the number is
(a) 1010  
(b) F0F0
(c) 7070
(d) 5050

(a) 01010101 
(b) 00111100
(c) 10101011
(d) 10101100

Y=F (A,B,C,D) = (0,2,5,7,8,10,13,15)

Describe the function of a 1-to-4 demultiplexer 
with a logical diagram.

(a) Y=(A+B)(A+C)(B+C)

(b) Y=AB+AC+ABC (AB+C)

(b) Y=AB+AC+ABC (AB+C)

Show that: By using Boolean algebra 

(X+Y+XY) (X+Y) (XY)=0
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(iii)

(iii)

(iv)

(ii)
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                 GROUP  - C

7.

4

8

8x5 = 40
Answer all Five Questions.

(a) To convert coded information into 
      non-coded form 
(b) To convert non-coded information into
      coded form
(c) It is used to separate address bus and 
      databus
(d) None of the above

Which IC is used for the implementation of
1-to-16 DEMUX?
(a) IC 74154
(b) IC 74155
(c) IC 74139
(d) IC 74138

Draw the logical circuit diagram for the expression
Y=AB+AB and also show its truth table.

Y=AB+AB 

working of D-flip flop.

D- 

ADC 

Simplify using K-map.
Y=F (A,B,C,D) = (0,2,5,7,8,10,13,15)
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4.

(iv)

(v)

(v)

(vi)

5.
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ICDEMUX

microprocessor is
(a) Data bus 
(b) Control bus
(c) Address bus
(d) Any of these

preferred as
(a) Integrator
(b) Divider
(c) Subtractor
(d) Differentistor

(b) 74

Describe the working of an encoder.

memory) briefly.

RAM 

explain it with truth table.
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(vii)

(vii)

(viii)

(vi)
(xx)

Answer all Five Questions.
4x5=20

2.

OR

3.

4

4

(a) J=0; K=0 

(b) J=0; K=1

(c) J=1; K=0

(d) J=1; K=1

The number FF in Hexadecimal system is 

equivalent to----in decimal system

(a) 255

(b) 256

(c) 239

(d) 240

With the help of NAND universal gate design OR
gate and AND gate.

NAND OR AND

diagram.

R-S 

number
(a) 36
(b) 74

P.T.O
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(xviii)

(xix)

(xx)

(xix)

(viii)

(ix)

(ix)

(x)

How many AND gates are required to realize
Y=CD+EF+G
(a) 4 
(b) 5
(c) 3
(d) 2

Y=CD+EF+G 

The simplification of Boolean expression 

(ABC)+(ABC) is
(a) 0 
(b) 1
(c) A
(d) BC

inputs are o and 1?
(a) 0 
(b) 1
(c) 3
(d) 2

AND 

Conversion of decimal digit 5 into Excess-3
code is given by
(a) 0101 
(b) 0010
(c) 1000
(d) 1011

P.T.O
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Shift registers are used for

(a) Temporary storage of large data 

(b) Temporary storage of small data

(c) Permanent storage of large data

(d) Permanent storage of small data

In 1-to-4 Demultiplexer, how many select

lines are required?

(a) 2 

(b) 3

(c) 4

(d) 5

called the
(a) Supercomputers 
(b) Mainframe computers
(c) Micro controllers
(d) None of these

A bubbled gate is one whose inputs are
(a) Short circuit 
(b) Open circuit
(c) Connected to AND gate
(d) Inverted

(xi)
(xvii)

(xi)

(xvii)

(xviii)

(xii)

(x)(xvi)

P.T.O
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Which of the following is an output device

for an analog computer

(a) CRO 

(b) Recorder

(c) Panel meter

(d) All of the above

contains 2 machine cycles

(a) MVI M,data 

(b) STA addr

(c) MOV r, M

(d) LHLD addr

The ASCII code is a

(a) 5 bit code 

(b) 7 bit code

(c) 9 bit code

(d) 11 bit code

ASCII 

Which of the following Boolean rules is 

correct 

(a) A+0=0 

(b) A+1=1

(c) A+A=A.A

(d) A+AB=A+B

(xv)

(xv)

(xvi)

(xiv) (xii)

(xiii)

(xiii)

(xiv)

P.T.O
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Show how to convert S-R flip flop into J-K flip flop.
Also explain that how the “Race around” condition 
is removed.

S-R J-K 

microprocessor & discuss.

Write an assembly language program to subtract 
two 8-bit numbers and the result is 8-bit.
If there is borrow  then what step in the program
has to be included.

11.

8
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Show how to convert S-R flip flop into J-K flip flop.
Also explain that how the “Race around” condition 
is removed.

S-R J-K 

microprocessor & discuss.

Write an assembly language program to subtract 
two 8-bit numbers and the result is 8-bit.
If there is borrow  then what step in the program
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11.
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